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readln(C);
B:=Sgr(A)+C;
B~Sgrt(A)+C;
Writeln('B=',B);
Writeln('B=',B);
end.
end.
r) Program LINPROGRAM;
6) Program LINPROGRAM;
Const A-5;
Const a=5;
Var B,C:integer;
Var B,C:integer;
B:real;
B:real;
begin
begin
write('C=');
write('C=');
readln(C);
readln(C);
B:=Sgr(A)+C;
B:=Sgr(A)+C;
Writeln('B=',B);
Writeln('B=',B);
end.
end.
Правильно

Неправильно

2. Знайти помилки в кожній з
наступних програм, якщо вони
є, і виправити їх. Які з програм
записані правильно, а які ні?
a) Program А;
в) Program C;
Const A=5;
Var A,B,C:real;
begin
begin
А:=А+5;
readln(A,B);
writeln('A=',A);
C:=A/B;
end.
writeln('C=',C);
end.
6) Program B;
r) Program D;
Var A,B,C:integer;
Var A,B,C:real;
begin
begin
readln(A,B);
readln(A,C);
C:=A/B;
C:=A/B;
